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Examples of the Fit - Sim-Recon 1.9.0

Zyack VS At for channel 1 Zyack VS At for channel 5

2,4 (€M

o
=]

Z,2c VS At for channel 9 Z,ack VS At for channel 13

150

100

50

o
o2
S




Examples of the Fit - Sim-Recon 1.11.1

Zyek VS At for channel 1
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pO fit parameter

-Recon 1.11.1
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pl: Sim-Recon 1.9.0 vs Sim-Recon 1.11.1

p1 fit parameter
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p2: Sim-Recon 1.9.0 vs Sim-Recon 1.11.1

p2 fit parameter
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Examples of the Fit - Monte Carlo - 2GeV electrons

Zyack VS At for channel 1 Zyack VS At for channel 5
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Examples of the Fit - Monte Carlo - 1GeV electrons

Zyack VS At for channel 1 Zyack VS At for channel 5
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Examples of the Fit - Monte Carlo - 0.5GeV electrons

Zyack VS At for channel 1 Zyack VS At for channel 5
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Examples of the Fit - Monte Carlo - All Momenta
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p0 (cm)

pO fit parameter

p0: Monte Carlo vs Spring 2016 Data

pO fit parameter
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p1 (cm/ns)

pl: Monte Carlo vs Spring 2016 Data

p1 fit parameter p1 fit parameter
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p2: Monte Carlo vs Spring 2016 Data

p2 fit parameter

p2 fit parameter
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